Windshield with wiper CFMOTO ZFORCE 1000 SPORT

Material: aluminunn

Windshield Fitting

1) 1x Frame with windshield
40.MP 0574 " 5) 35 Plastic bushing

3) 1x Loop panel
4) 2x Bracket
5) 2x Bracket
6) 2x Bracket
7) 1x Tank bracket
3x Screw M6x12
4x Screw M6x16
7x Screw M6x40
12x Screw M8x20 M8 = 24 Nm
4x Screw M8x25
11x Nut M6
16x Nut M8
21x Wasker 6
16x Washer 8
1x Washer Tank
1x Corragation L=4 m
3x Buttom
8x Bolt cap M6
16x Bolt cap M8
1x Wiper cap
2x Linear actuator
1x Washer tank pump
3x Plastic loop
1x Wiper arm
1x Silicon tube
1x Washer motor seal
1x Opening sealer
1x Sealer
1x Washer nozzle
20x Plastic screed
1x Wiper blade
1x Wiper electrical wiring

1x Linear actuator electrical wiring
1x Wiper motor




Windshield with wiper CFMOTO ZFORCE 1000 SPORT

Material: aluminunn

40.MP 0574



	Страница 1
	Страница 2

